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Qll

Q11€05*0 + 2(Q1, + 2Q4s)Sin%0c0s%0 + Q,psin*6

Q12 = (Qq1 + Qu5 — 4Q¢6 )sin?0c0s?0 + Q5 (sin*d + cos*0 )

Q22 = Q115in*0 + 2( Q15 + 2Qg6)sin?0c05%0 + Qypc05*6

Q16 = (Q11 — Q12 — 2Q46) SIN O c0s30 +(Q12—Qzp + 2Qq)sin>6c0SH
Q26 = (Q11 — Q12 — 2Qe6)sin®0c0S 6 + (Q12 — Q2 + 2Qsg) SiN 6 cos>6

Qss = (Q11 + Q22 =2Q12 — 2Qs6)sin?0cos?0 + Qge(sin*0 + cos*)

5_12 = (811 + Sy — Sg)sin?0cos?6 + S;,(sin*6 + cos*9)

S11 = S11005%0 + (251, + Seg)sin?0c0s20 + Sy,sint6

E: S;18in*0 + (2S;, + Sg¢)sin?0cos?6 + S,,cos*6

Sie = (25, — 2515~ Sec) SIN O cos30 — (28,5 — 2815 — See)sin36 c0S O
Sy = (281, 251, — Ses)sin®00088 — (2S5 — 251, — Ses) Sin 6 cos6

Se = 2(2S11 + 2S,, — 481, — See)sin?0cos?0 + Sge(sin@ + cos*0)



